

University of the Philippines Baguio SUPPLY AND PROPERTY MANAGEMENT OFFICE Governor Pack Road, Baguio City Telefax: (074) 442 - 3484

Project Reference Number:	
Name of the Project:	
Location of the Project:	

Standard Form Number: SF-GOOD-58

Revised on May 24, 2004 Standard Form Title: <u>Purchase Order</u>

PURCHASE ORDER

University of the Philippines Baguio

Supplier	:	FITNESS INTELLIGENCE TRENDS, INC.	P.O. No.	SPMO-RF-19-0	07-144
Address		#73 Good Harvest Complex, G. Raymundo Ave., Brgy. Canlongan Pasig City	Date	17 July 2019	
-Mail Address	:	Carnongan Fasig City	Mode of		
elephone No	:	02 651 7777 / 651 7751	Procurement	PUBLIC BIDDING	
IN	:		i rocarcinent		
Gentlen	nen:				
	Please	furnish this office the followng articles subject to the	terms and conditi	ons contained he	rein:
	Tiedbe	Tarmon this office the following articles subject to the	I	ons contained no	
Place of Delivery	,.	HKP Gym, UP Baguio, Baguio City	Delivery Term:	FOB UP Baguio	
Date of Delivery		15-60 days from receipt of NTP	Payment Term:	30 days	
die of Delivery	• 0.	10-00 days from receipt of NTP	r dynnene renni.	oo days	
Stock/ Property	Limit	Description	Ougatitus	Unit Cost	Amount
No.	Unit	Description	Quantity	Unit Cost	Amount
		POWER SLED			
	set	Heavy Duty Steel, adaptable for training on any surface, multiple mountable attachments for double handle and wheelbarrow, Pole	1	27,000.00	27,000.00
		Length:96cm, Suitable for commercial used, 3 Years Warranty			
		LANDMINE BARBELL ATTACHMENT			
	set	Heavy Gauge Steel, axle pivot point, full 360degree swivel, can be	1	5,775.00	5,775.00
		attached to 2" or 2.5" pole, Suitable for commercial use, 3 Years			•
		Warranty OLYMPIC BAR			
	рс	28mm grip diameter, 20kg/44lbs, rated at 1500lb max weight capacity, 3	7	7,125.00	49,875.00
	,	years warranty			
		OLYMPIC BAR	_	5 000 00	24 500 00
	pc	25mm grip diameter, 15kg/33lbs, rated at 1000lb max weight capacity, 3	5	6,900.00	34,500.00
		years warranty BARBELL FOAM PAD			- 400.00
	pc	17" Neck pad, 3/4" Dense Foam, Synthetic Leather Material	4	1,350.00	5,400.00
		DUMBBELL SET WITH 2- TIER RACK			
		includes 10 pairs of dumbbell with varying weights ranging to 2.5 kg to 25		04 000 00	84 000 00
	set	kg, knurled handles for non-slip grip; heavy duty 2 tier rack, full	1	84,000.00	84,000.00
		commercial grade, 3 years warranty on rack and 1 year warranty on dumbbell			
		STABILITY HALF BALL			
	рс	Slip resistant, durable and elastic high quality PVC material, anti-burst	2	8,250.00	16,500.00
		technology, max user capacity: 159 KG			
	рс	non-toxic PVC Material, Non slip Ribbed body,65 cm	3	2,960.00	8,880.00
		JUMP ROPES		000.00	2 520 00
	pc	3m adjustable rope length, center-mounted swivel, non-toxic PVC	4	880.00	3,520.00
	set	SUSPENSION TRAINER	4	6,000.00	24,000.00
	set	high quality straps, nylon carrying bag	*	0,000.00	24,000.00
		BATTLE ROPE WITH ANCHOR			0.440.00
	set	sheathed with nylon sleeves, 40ft, include wall anchor bolt, for men	1	9,440.00	9,440.00
		(50mm) BATTLE ROPE WITH ANCHOR			
	set	sheathed with nylon sleeves,40ft,include wall anchor bolt, women	1	8,640.00	8,640.00
	.55.51	(38mm)			
		FOAM ROLLER			
	set	High Density Expanded Polypropylene(EPP) supports up to 300lb, set	2	7,200.00	14,400.00
		includes Soft, Firm and Extra firm Barrel Roller			
	set	TRAP BAR Fits 2" Olympic Plates, knurled handles, 44lb weight,56"overall length,	2	14,400.00	28,800.00
	501	500lb weight capacity			200000000000000000000000000000000000000
		OLYMPIC WEIGHT SET			
	set	rubber coated Olympic plates, includes a pair of 5kg, 10kg, 15kg, 20kg,	4	33,600.00	134,400.00
		25kg plates			
		PLATE RACK	4	5,360.00	21,440.00
	рс	maximum weight of 300-450lb, powder coated finish, triangular in design,	7	3,300.00	22,440.00
		Utility Bench			
		For Upright, Incline, Flat Exercise; Steel frame with contoured foam roller	4	20,300.00	81,200.00
	pc	pads, boxed upholstery, high-density foam, 3 years warranty on		20,300.00	51,200.00
		frame, weight not less than 70lbs			
		POWER RACK			
		Multi-Function Fitness Squat, adjustable safety support bars, steel frame	_	452 500 50	457 500 00
	set	with scratch proof powder coated finish, Pull up bar is of 51" solid steel	1	157,500.00	157,500.00
		with capacity of 450lbs; two liftoffs and two safety rods, suitable for			
	1	commercial use, 3 year warranty on frame, ISO 9001 Certified	l .	1 1 1	ı .

SUM PAGE 1

715,270.00



University of the Philippines Baguio SUPPLY AND PROPERTY MANAGEMENT OFFICE Governor Pack Road, Baguio City

Telefax: (074) 442 - 3484

Project Reference Number:	
Name of the Project:	
Location of the Project:	

Standard Form Number: SF-GOOD-58

Revised on May 24, 2004 Standard Form Title: <u>Purchase Order</u>

PURCHASE ORDER

University of the Philippines Baguio

Supplier	:	FITNESS INTELLIGENCE TRENDS, INC.	P.O. No.	SPMO-RF-19-07	-144
Address	:	#73 Good Harvest Complex, G. Raymundo Ave., Brgy. Canlongan Pasig City	Date	17 July 2019	
E-Mail Address	:		Mode of	PUBLIC BIDDING	
Telephone No	:	02 651 7777 / 651 7751	Procurement	- COLIC DIDDING	
TIN	:		<u></u>		
Gentlem		Accorded to the second	APLIES ON A SOME		in.
	Please	furnish this office the followng articles subject to the	terms and conditi	ons contained here	an:
Place of Deller		HKD Cum IID Doguio Doguio City	Delivery Terre	FOR UP Possis	
Place of Delivery Date of Delivery:		HKP Gym, UP Baguio, Baguio City 15-60 days from receipt of NTP	Delivery Term: Payment Term:	FOB UP Baguio 30 days	
	3				
Stock/ Property	Unit	Description	Quantity	Unit Cost	Amount
No.			SUM P	AGE 1	715,270.00
		TREADMILL]		
		Workouts: 8-12 workouts, With USB port, Running Area: 152 x 51 cm or			
		higher, Inline range: 0% - 15%, Speed Range: 0.8-20km/h, Power			
	рс	Requirements: 20-amp dedicated circuit required and non-looped grounded, Maximum User Weight: 155-160 kg, Compatible with Virtual	2	401,400.00	802,800.00
		Active programming, With 15-20" touchscreen LCD, Virtual Active			
		Compatible, Pause function, with USB port, Ultimate hard-wax reversible			
		1" deck, Step-on height: 16-22 cm, Contact and telectric Heart Rate, For commercial use, 5 years warranty, 4-5 hp, ISO 9001 Certified			
		ELLIPTICAL MACHINE	<u> </u>		
		20-25 Resistance levels, Self-Powered, Gear rate feedback, Standard	1		
	рс	hand pulse and HR Receiver, Standard resistance level control:20-25,	2	122,500.00	245,000.00
		Maximum User Weight: 160-190 kg, Stride: 50cm, Self-powered, Suitable			
		for commercial use, 3 years warranty on frame, ISO 9001 Certified	-		
		SMITH MACHINE Frame Finish: Powder Coated, Bar travelling limited to 27-29" from the	1		
	set	floor, 5-8 integrated weight storage horns, Starting Weight: 20 kg,	1	110,500.00	110,500.00
		Suitable for commercial use, 3 years warranty on frame, ISO 9001			
		Certified LAT PULLDOWN/ LOW ROW MACHINE	1		
		Selectorized, Single Weight Stacks, Commercial grade center drilled	1		
	set	weight stacks, Adjustment: Seat Height, Swivel Pull points: Smooth	1	84,500.00	84,500.00
		rotating swivel pulleys at all pull points using a commercial grade bearing, Suitable for Commercial use, 3 years warranty on frame, Weight	1		
		Stack guarding: Full front and rear ISO 9001 Certified	 	-	
		LEG EXTENSION/LEG CURL MACHINE	1		
		Frame: Heavy-duty, round 11 gauge tubular steel, powder Coated Finish: Matte black and electrostatic powder coat, commercial Pads: Closed cell	-	00.500.00	00.000.00
	set	foam and double stitched high grade naugahyde, Single Weight Stack,	1	89,600.00	89,600.00
		Suitable for commercial use, 3 years warranty on frame, Weight Stack			
		guarding: Full front and rear, ISO 9001 Certified	-		
		ABDUCTOR/ ADDUCTOR MACHINE	1		
	set	Structural Steel, Weight Stack: 60-70 kg, Maximum User weight: 140-180 kg, Stack guards, Suitable for commercial use, 3 years warranty on	1	97,500.00	97,500.00
		frame, Weight Stack guarding: Full front and rear, ISO 9001 Certified			
		SPINNING BIKE]		
		Frame: high-strength steel with durable powder-coat paint, handlebar:	1		es .
		PVC coated, Dual Pedal design with SPD and toe cage, Adjustments:	2	46,000,00	140 700 00
	set	Up/down-reliable pop-pin adjustments and fore/aft-nob tightening micro adjustments, Maximum User Weight: 300-400 lbs, Seat: racing saddle,	3	46,900.00	140,700.00
	0	User size range: 4'11" to 6'5" tall, Suitable for commercial use, 3 years			
		warranty on frame, ISO 9001 certified			
		PEC FLY/ REAR DELT MACHINE	-		
1		Frame Finish: Powder Coated, Total stack weight: Heavy- 91 kg; Light-			
	set	68kg, Consistent Stack Height, Weight Stack guarding: Full front and rear shields, Cable transmission: Internally Iubricated cables and fittings, Color	1	85,400.00	85,400.00
		coded pivots and points of adjustment, Suitable for commercial use, 3			
		years warranty on frame, ISO 9001 certified			
			Q MILS	AGE 2	1 656 000 00



University of the Philippines Baguio SUPPLY AND PROPERTY MANAGEMENT OFFICE Governor Pack Road, Baguio City

Telefax: (074) 442 - 3484

Project Reference Number:	
Name of the Project:	
Location of the Project:	

Standard Form Number: SF-GOOD-58

Revised on May 24, 2004 Standard Form Title: **Purchase Order**

PURCHASE ORDER

University of the Philippines Baguio

Supplier	:	FITNESS INTELLIGENCE TRENDS, INC.	P.O. No.	SPMO-RF-19-0	7-144
Address		#73 Good Harvest Complex, G. Raymundo Ave., Brgy.	Date	17 July 2019	,, 144
E-Mail Address	:	Canlongan Pasig City			
Telephone No	:	02 651 7777 / 651 7751	Mode of Procurement	PUBLIC BIDDING	
TIN	:		1,000,011,011		
Gentlen	nen:				
	Please	furnish this office the followng articles subject to the $% \left(1\right) =\left(1\right) \left($	terms and conditi	ons contained her	rein:
Place of Delivery		HKP Gym, UP Baguio, Baguio City	Delivery Term:	FOB UP Baguio	
Date of Delivery	•	15-60 days from receipt of NTP	Payment Term:	30 days	
Stock/ Property	Unit	Description	Quantity	Unit Cost	Amount
No.	Ome	Bescription	SUM P		715,270.00
			SUM P		1,656,000.00
		CABLE CROSSOVER MACHINE			
	set	Frame Finish: Powder Coated, Over-sized Frame Tubing, Weight Stack: 2 x 200 lbs, Solid cold-rolled steel plate with inner brushing, Suspension: 3-point design, Color-coded Pivots and Adjusts, Low row and lat pulldown have dual pulley configurations for greater training variety, 2-5 configurations, Suitable for Commercial use, 3 years warranty, Weight Stack guarding: Full front and rear, ISO 9001 certified	1	167,500.00	167,500.00
		HACK SQUAT MACHINE WITH PLATE SET			
	set	Frame Finish: Powder Coated, Maximum User Weight: 110-160 kg, Maximum Training Weight: 230-245 kg, Starting Resistance: 46-50 kg, Suitable for Commercial use, 3 years warranty, ISO 9001 certified	1	100,750.00	100,750.00
		RECUMBENT BIKE			
	set	Flywheel: 9-11kg, User Weight Capacity: 150-170kg, Pedal Spacing- 190- 200 mm, Resistance: 10-20 Electric Setting, Frame type: Recumbent, Workout Program: 10-15, Seat Type: Comfort Arc with mesh seatback, Seat Adjustment: Fore/aft via easy adjust lever, Pedal type: Self-balancing pedals with adjustable straps, User Weight Capacity: 150-160 lbs, User Weight Height Range: 140 cm- 200 cm, Power Supply: 12V/ 2A Power	1	103,850.00	103,850.00
	set	Adapter GLUTE HAM RAISE BENCH Weight: 70kg, Power coated steel frame, Vertical and horizontal adjustments, Suitable for commercial use, Electrostatic powder-coated and heat cured for super durability, ISO 9001 certified	2	22,750.00	45,500.00
	set	FLAT BENCH PRESS Powder coated steel frame, Structural Steel Framework, Vertical Racking system which can accommodate both Men's and Women's Olympic sized bars, Flat padded seat, 3-5 Racking points, Maximum User Weight: 140-160 kg, 3 years warranty, suitable for commercial use, ISO 9001 Certified	1	36,850.00	36,850.00
	set	DECLINE BENCH PRESS WITH HORN AND PLATE SET Powder Coated Steel frame, Structural Steel Framework, Vertical racking system which will accommodate both Men's and Women's Olympic Sized Bar, Padded seat and upper body rest, Adjustable leg rollers, 3-5 racking points, suitable for commercial use, ISO 9001 Certified	1	68,800.00	68,800.00
	set	INCLINE BENCH PRESS WITH HORN AND PLATE SET Powder Coated Steel Frame, Structural Steel Framework, Plate loaded, Electrostatic powder-coated and heat cured, 55-70 mm thick seats and padding, Maximum Weight Capacity: 280-320 kg, suitable for commercial use. 3 years warranty. ISO 9001 Certified	1	78,400.00	78,400.00
	set	45 DEG LEG PRESS Powder Coated Finish, Maximum user weight: 150-170 kg, Plate loaded, Adjustable bottom stops provide long or short ranges of motion for all height users, Adjustable back pad, Assistance handle on platform, suitable for commercial use, 3 year warranty, ISO 9001 Certified	1	87,500.00	87,500.00
-	set	SHOULDER PRESS BENCH Frame Finish: Powder Coated, Maximum User weight: 150-165 kg, Maximum Training Weight: 200-210 kg, Dual-grip pressing positions, 4 integrated weight-storage horns, suitable for commercial use, 3 years	1	84,000.00	84,000.00
		warranty, ISO 9001 Certified	SUM P	AGE 3	773,150.00



University of the Philippines Baguio SUPPLY AND PROPERTY MANAGEMENT OFFICE Governor Pack Road, Baguio City

Telefax: (074) 442 - 3484

Project Reference Number: Name of the Project: Location of the Project:

Standard Form Number: SF-GOOD-58

Revised on May 24, 2004 Standard Form Title: **Purchase Order**

PURCHASE ORDER

Supplier	:	FITNESS INTELLIGENCE TRENDS, INC.	P.O. No.	SPMO-RF-19-07-1	44	
Address	- To	#73 Good Harvest Complex, G. Raymundo Ave., Brgy.	Date	17 July 2019		
-Mail Address	:	Canlongan Pasig City	Mode of	·		
elephone No	:	02 651 7777 / 651 7751	Procurement	PUBLIC BIDDING		
IN .	:	•				
Gentler		furnish this office the followng articles subject to the	terms and condit	ions contained herein:		
Place of Delivery Date of Delivery		HKP Gym, UP Baguio, Baguio City 15-60 days from receipt of NTP	Delivery Term: Payment Term:	FOB UP Baguio 30 days		
Stock/ Property No.	Unit	Description	Quantity	Unit Cost	Amount	
			SUM I	PAGE 1	715,270.00	
			SUM I	PAGE 2	1,656,000.00	
			SUM I	PAGE 3	773,150.00	
	set	STANDING PREACHER CURL WITH BAR, PLATE SET, AND COLLARS Frame Finish: Powder Coated, Over-sized Internal Frame Tubing, Angle hand grips, Arm pad is angled, 3-point design suspension, With guards and pulleys covers, magnetic and tethered weight pins, Solid cold-rolled steel plate with inner bushings, suitable for commercial use, 3 year	1	112,000.00	112,000.00	
	set	warranty. ISO 9001 Certified VERTICAL KNEE RAISE WITH BENCH Oversized round handles, Angled back support, Elbow pads, Multiple chin grips and rock-climbing grips, suitable for commercial use, 3 years warranty, ISO 9001 Certified	1	50,250.00	50,250.00	
	set	BENCH ABS Split-pad design, Double-adjustable leg pads, handle is mounted on front rollers, suitable for commercial use, 3 years warranty, ISO 9001 Certified	1	31,500.00	31,500.00	
	set	FLAT BENCH Frame Finish: Powder Coated, Over-sized frame tubing, suitable for commercial use, 3 years warranty, ISO 9001 Certified	3	15,925.00	47,775.00	
	set	ADJUSTABLE DECLINE BENCH Frame Finish: Powder Coated, Over-sized Frame Tubing, Product Weight: Atleast 30kg, 3 years warranty on frame, ISO 9001 Certified	1	85,600.00	85,600.00	
	set	ABS CRUNCH BENCH Frame Finish: Powder Coated, Product Weight: 55 kg – 70kg, Maximum User Weight: atleast 150 kg, Maximum Training Weight: atleast 30kg, Starting Resistance: 10kg, Weight horn accommodates atleast 12kg plates, 3 years warrant on frame, ISO 9001 Certified	2	90,000.00	180,000.00	
	-		SUMI	PAGE 4	507,125.00	
(Total Amount in	Words)	three million six hundred fifty one thousand five hun	dred forty five pe	esos	3,651,545.00	
Redodrecimentation (Company) - Semination (Company)		of failure to make the full delivery within the time specified elay shall be imposed.	above, a penalty o	f one tenth (1/10) of one	(1)	
Conforme:			RAYMUNDO D. ROVILLOS			
		Signature over printed name of supplier 7-26-19 Date		Chancellor		
unds Cluster	: 05.2	06441 1344th Programmed Fund	ORS/BURS No. :	02.2019441-2019-0	07-382 & 393	
unds Available	: 05 2	Chan-	Date of the ORS/B Amount :			
	JUL 1	Chica dandawen	-			